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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
i YC\.\J A\_/Jﬂ I—\\,.\]A HVAVA‘ NJF\UA\-/T\\ I: ot |
VATV T Y2 IJ o —_
VAR 1
A M“\V\\ — L
A I B T~
7/ \\N \N A~ N -
W AL
UJ Iy vl b
ﬁ . N/ ¥ A |
U1 i
ST
VMV\/V' “VQM
A S
BTANAS D
i l”/”,,f’*"—'—_________\\\\\ — LAI
e L
> 4 Y
e AN
S | ~
E r\'/'\ | optEtRate
RV T S N VA VARV WA YAV YR AT ATV VA e
Y Y Pl v
| \[ |

25

50

75

100

125

150

175



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-9 0
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P3-9
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12:50 294 150.0 FA| 1Bzi%@12:50 B3h (RAERSE)
13:20 294 150.0 & =| 1Ri%@13:20 B3h (RAHERESE)
13:50 294 150.0 & =| 1Ri%@13:50 Bz (kAFEREE)
14:25 294 150.0 & =| 1Rige14:25 Bz (RBHEREE)
15:05 294 150.0 & =| 1Ri%@15:05 Bzh (RAHEESE)
15:50 294 150.0 & =| 1Ri%e15:50 Bz (kAEREE)
23t|2058.0 (70%) 1050. 0 3EHKEC: 2080.0, PH: 6.0

FEREHERE STEELRF (191.0 :

2RI\ EPRERE153.0 ml.

153.0), AIEEHT—@E XA 5

FEREREC (2700.0) 5i&EEC (2000.0) RERK, BT




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=42 (2025-05-14)
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76 Warning: lcol [FVI',| "FVO’'] missing 66
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-9

BfiE) | BB (F) | EdiE (ER/HK) [ XK R

05:50 294 150.0 (& =| 1BRiB@05:50 Bzh (KEEREE)
06:55 294 150.0 & =| 1Ri%e06:55 Bz (kPBIEREE)
07:40 294 150.0 5| {Ri%e07:40 Bz (FRAERSE)
09:00 294 150.0 = {RRi8009:00 B (RFAEEE)
10:10 294 150.0 | 1Ri&e10:10 B (REERS)
10:55 294 150.0 El 1BRi&010:55 Bz CGRAEREE)
11:35 294 150.0 =l {Rige11:35 B3 (RAERSE)
12:10 294 150.0 =l RiBe12:10 Bz (RAKEE)
12:45 294 150. 0 5| 1Ri%e12:45 B GREEREE)
13:20 294 150. 0 F| {Rige13:20 Bzh (RE{EREE)
14:00 294 150.0 5| Rike14:00 Bz (REAERS)
14:40 294 150. 0 5| 1Ri%e14:40 B CGREERE)
15:20 294 150.0 (% =| 1Ri%@15:20 Bz (REERSE)
16:25 294 150.0 | =| 1Ri%e16:25 Bz (kAEREE)
=it 4116.0 (14)%) 2100. 0 32803 KEC: 2080.0, PH: 6.0

FEREHEM 8 STHAEARS (191.0 : 153.0), AIREMAT—@E XFHE
ZRIASEPRERE153. 0 ml.

large discrepency for begining water status (324:120.0), set to 324 ml.
REXEEBIEC (2635.0) SiZEEC (2000.0) REKR K, HHRE



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=41 (2025-05-13)
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Warning: lcol ["WC1',  "WC2'] missing
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P3-9

BrE) | GEBAK (3 | ERE (EH/R) (XS R

06:50 294 150.0 (Z=| {Ri%@06:50 HE (FEAHEEHSE)
07:40 294 150.0 (& =| 1BRi&e07:40 Bzh (REERSE)
09:00 294 150.0 FA| 1BRi%@09:00 B3h (FKA{EREEE)
10:10 294 150.0 FA| 1Ri%@10:10 B3 (RAEREE)
11:20 294 150.0 FA| {Ri%e@11:20 Bz CGRAEEE)
12:05 294 150.0 FA| 1Bi&@12:05 B3 (KRAFEREE)
12:50 294 150.0 FA| 1BRi%@12:50 B3h (RAB{ERESE)
13:40 294 150.0 PH| {Ri%e13:40 Bz (RAEESE)
14:25 294 150.0 FR| {Ri%@14:25 Bz CGRAERSE)
15:15 294 150.0 FA| 1B2i%@15:15 Bzh (RAEREE)
16:25 294 150.0 FA| 1BRi%@16:25 B3h (RA{ERSE)
23t 3234.0 (11%) 1650. 0 3 3HKEC: 2080.0, PH: 6.0

FEREHEM S STEAERS (191.0 : 147.0), AIBERT—@E XFHE
FRIAEPRIEBRE147.0 ml.

large discrepency for begining water status (260:90.0), set to 260 ml
REXEEBIEC (2610.0) SiZTFEEC (2000.0) REKR K, HHEE



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=40 (2025-05-12)
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Warning: lcol ['FVI’,

"FVO' ] missing

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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